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Transistor

PNP General Purpose Transistor
BC327

■ Features
 ● High current (max. 500 mA)

 ● Low voltage (max. 45 V).

Unit:mmTO-92

1. EMITTER
2. BASE
3. COLLECTOR
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■ Absolute Maximum Ratings Ta = 25℃

tinUgnitaRlobmySretemaraP

VegatloV esaB - rotcelloC CBO -50

VegatloV rettimE - rotcelloC CEO -45

VegatloV esaB - rettimE EBO -5

IsuounitnoC -  tnerruC rotcelloC C -500 mA

ItnerruC rotcelloC kaeP CM -1 A

ItnerruC esaB kaeP BM -200 mA

PnoitapissiD rewoP rotcelloC C 625 mW

Thermal Resistance From Junction to Ambient RθJA 0.2 K/mW

TerutarepmeT noitcnuJ J 150

TerutarepmeT tneibmA gnitarepO amb   -65 to 150

Tegnar erutarepmeT egarotS stg   -65 to 150

V
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Transistor

PNP General Purpose Transistor
BC327

■ Electrical Characteristics Ta = 25℃

tinUxaMpyTniMsnotidnoctseTlobmySretemaraP

Collecto- base breakdown voltage VCBO Ic= -100 μA， IE=0 -50

Collector- emitter breakdown voltage VCEO Ic= -1 mA， IB=0 -45

Emitter - base breakdown voltage VEBO IE= -100 μA， IC=0 -5

VCB= -20 V , IE An 001-0=

VCB= -20 V , IE=0 , TJ = 25℃ -5 μA

Itnerruc ffo-tuc rettimE EBO VEB= -5V , IC An 001-0=

Collector-emitter saturation voltage VCE(sat) IC=-500 mA, IB 7.0-Am05-=

Base - emitter saturation voltage VBE(sat) IC=-500 mA, IB 2.1-Am05-=

Vegatlov rettime - esaB BE IC = -500 mA, VCE 2.1-V1- = 

723CB 006001

61-723CB 052001

52-723CB 004061

04-723CB 006052

VCE= -1V, IC=-500mA

see Figs 1, 2 and 3

Cecnaticapac rotcelloC ob IE=ie=0,VCB=-10V,f=1MHz 10 pF

fycneuqerf noitisnarT T VCE= -5V, IC= -10mA,f=100MHz 80 MHz

V

Itnerruc ffo-tuc esab-rotcelloC CBO

V

hniag tnerruc CD FE(1) VCE= -1V, IC=-100mA

hniag tnerruc CD FE(2) 40
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Transistor

PNP General Purpose Transistor
BC327

■ Typical Characterisitics

Fig.1  DC current gain; typical values.BC327-16.

handbook, full pagewidth
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Fig.2  DC current gain; typical values.BC327-25.

handbook, full pagewidth
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Fig.3  DC current gain; typical values.BC327-40.
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